## On the behaviour of Laplace-integrals under conformal mappings of the region of convergence

By RALF SCHAPER (Marburg)

Let  $\zeta$  be a complex number with  $0 < |\zeta| < 1$  and by

$$\psi(z) = \frac{z - \zeta}{1 - \overline{\zeta}z}$$

denote a conformal mapping of the unit circle onto itself. TURÁN [9] proved

**Theorem A:** Given any  $\zeta$  with  $0 < |\zeta| < 1$  there is a function

$$f_1(z) = \sum_{\nu=0}^{\infty} a_{\nu} z^{\nu}$$

regular for |z| < 1 with convergent  $\sum_{v=0}^{\infty} a_v$  and such that the series

$$f_2(z) = f_1(\psi(z)) = \sum_{\nu=0}^{\infty} b_{\nu}(\zeta) z^{\nu}$$

diverges for the corresponding

$$z = \psi^{-1}(1) = \frac{1+\zeta}{1+\zeta}.$$

If  $f_1(z) = \sum_{\nu=0}^{\infty} a_{\nu} z^{\nu}$  is convergent at z=1 then  $f_2(z)$  is Abel-summable at  $z=\psi^{-1}(1)$ .

Several authors investigated similar problems (see e.g. the references in [5]). Especially ALPÁR [1] proved

**Theorem B:** Given any  $\zeta$  with  $0 < |\zeta| < 1$  there is a function

$$f_1(z) = \sum_{v=0}^{\infty} a_v z^v$$

regular for |z| < 1 with  $\sum_{v=0}^{\infty} |a_v| < \infty$  and such that

$$f_2(z) = f_1(\psi(z)) = \sum_{\nu=0}^{\infty} b_{\nu}(\zeta) z^{\nu}$$

with

$$\sum_{v=0}^{\infty} |b_v(\zeta)| = \infty.$$

In this note we shall prove some similar results for *Laplace-integrals*. Let  $\alpha$ ,  $\beta$ ,  $\gamma$ ,  $\delta$  be real numbers with

$$\alpha \delta - \beta \gamma = 1.$$

Then the right halfplane Re s > 0 is mapped conformally onto itself by

$$\varphi(s) = \frac{\alpha s + i\beta}{\delta - i\gamma s}.$$

In the following we consider nontrivial conformal mappings, i.e. we assume (2)  $\alpha \gamma \neq 0$ .

Consider s with Re s>0 and set

$$f_1(s) = \int_0^\infty e^{-st} F_1(t) dt + K_1.$$

Then in general neither of the following relations hold for Re s>0:

$$f_2(s) = f_1(\varphi(s)) = \int_0^\infty e^{-st} F_2(t) dt + K_2$$

$$f_2(s) = f_1(\varphi(s)) = \int_0^\infty e^{-st} dF_2(t).$$

As an example take (Re s>0)

$$f_1(s) = \log \frac{s-i}{i(s-2i)} = \int_0^\infty e^{-st} \frac{e^{2it} - e^{it}}{t} dt - \frac{i\pi}{2}$$

and

$$f_2(s) = f_1\left(\frac{2s+i}{1-is}\right) = \log s.$$

(See [4; vol. 1, p. 251, ex. 12].) But as a positive result we have

**Theorem 1.** Given a function  $f_1(s)$  for Re s>0 with the representation

$$f_1(s) = \int\limits_0^\infty e^{-st} F(t) dt$$

such that the folloving integrals exist:

(i) 
$$\Phi(t) = \int_{0}^{\infty} e^{-\frac{t\alpha\tau}{\gamma}} F(\tau) \sqrt{\tau} J_{1}\left(\frac{2}{\gamma} \sqrt{t\tau}\right) d\tau \quad \text{for} \quad t > 0$$

(ii) 
$$\int_{0}^{\infty} e^{-\frac{i\alpha\tau}{\gamma}} F(\tau) d\tau$$

where  $J_1(z)$  denotes the Besselfunction

$$J_1(z) = \sum_{\nu=0}^{\infty} \frac{(-1)^{\nu} \left(\frac{z}{2}\right)^{2\nu+1}}{\nu! (\nu+1)!}.$$

Then

$$f_2(s) = f_1(\varphi(s)) = \int_0^\infty e^{-st} e^{-\frac{i\delta t}{\gamma}} t^{-\frac{1}{2}} \Phi(t) dt + \int_0^\infty e^{-\frac{i\alpha\tau}{\gamma}} F(\tau) d\tau.$$

The analogue to Theorem B is

**Theorem 2.** Let  $\alpha$ ,  $\beta$ ,  $\gamma$ ,  $\delta$  satisfy (1) and (2). Then there exists a function  $f_1(s)$  having for Re s>0 the form

$$f_1(s) = \int_0^\infty e^{-st} F_1(t) dt + K_3$$

with

$$\int_{0}^{\infty} |F_{1}(t)| dt < \infty,$$

but such that

$$f_2(s) = f_1(\varphi(s)) = \int_0^\infty e^{-st} F_2(t) dt + K_4$$

with

$$\int_{0}^{\infty} |F_2(t)| dt = \infty.$$

Finally we obtain an analogue of the second part of theorem A.

**Theorem 3.** Suppose  $k \ge 0$  and let  $\alpha$ ,  $\beta$ ,  $\gamma$ ,  $\delta$  satisfy (1) and (2). Assume for Re s > 0 the existence of

$$f_{1,k}(s) = \lim_{x \to \infty} \frac{1}{x^k} \int_0^x (x - t)^k e^{-st} dF_1(t) = \mathcal{L}^k(F_1)^*$$

$$f_{2,k}(s) = f_{1,k}(\varphi(s)) = \mathcal{L}^k(F_2).$$

<sup>\*)</sup> For this notation see [3, p. 314], [6, p. 4].

a) Then the existence of  $f_{1,k}(s)$  at s=0 implies

$$\lim_{r \to 0+} f_{2,k} \left( -\frac{i\beta}{\alpha} + r \right) = \lim_{r \to 0+} f_{1,k}(r),$$

i.e. if  $f_{1,k}(0)$  exists then  $f_{2,k}(s)$  is Abel-summable at  $s = \varphi^{-1}(0) = -\frac{i\beta}{\alpha}$ .

b) If  $f_{1,k}(s)$  is bounded in a Stolz-region, i.e. for s with

$$|\arg s| < \psi < \frac{\pi}{2}, \quad |s| < 1,$$

then the existence of  $\lim_{r\to 0+} f_{1,k}(r)$  implies

$$\lim_{r \to 0+} f_{2,k} \left( -\frac{i\beta}{\alpha} + r \right) = \lim_{r \to 0+} f_{1,k}(r),$$

i.e. if  $f_{1,k}(s)$  is Abel-summable at s=0 then the same is true for  $f_{2,k}(s)$  at  $s=\varphi^{-1}(0)=$  $=-\frac{i\beta}{\alpha}$ .

PROOF OF THEOREM 1: It is known [4; vol. 1, p. 245, ex. 36] that for  $a \ge 0$  and Re s > 0

$$1 - e^{-\frac{a}{s}} = \int_{0}^{\infty} e^{-st} \sqrt{\frac{a}{t}} J_{1}(2\sqrt{at}) dt$$

hence

$$1 - \exp\left(-\frac{\tau}{\gamma} \frac{1}{\gamma s + i\delta}\right) = \frac{1}{\gamma} \int_{0}^{\infty} e^{-st} e^{-\frac{i\delta t}{\gamma}} \sqrt{\frac{\tau}{t}} J_{1}\left(\frac{2}{\gamma} \sqrt{\tau t}\right) dt.$$

Theorem 1 is proved if in the following repeated integrals the change in the order of integration may be justified. Since (i) and (ii) we have

$$\int_{0}^{\infty} e^{-\frac{i\alpha\tau}{\gamma}} F(\tau) d\tau - \int_{0}^{\infty} e^{-\varphi(s)\tau} F(\tau) d\tau = \int_{0}^{\infty} e^{-\frac{i\alpha\tau}{\gamma}} F(\tau) \left\{ 1 - \exp\left(-\frac{\tau}{\gamma} \frac{1}{\gamma s + i\delta}\right) \right\} d\tau =$$

$$= \frac{1}{\gamma} \int_{0}^{\infty} e^{-\frac{i\alpha\tau}{\gamma}} F(\tau) \int_{0}^{\infty} e^{-ts} e^{-\frac{i\delta\tau}{\gamma}} \sqrt{\frac{\tau}{t}} J_{1}\left(\frac{2}{\gamma} \sqrt{\tau t}\right) dt d\tau =$$

$$= \frac{1}{\gamma} \int_{0}^{\infty} e^{-st} e^{-\frac{i\delta t}{\gamma}} t^{-\frac{1}{2}} \int_{0}^{\infty} e^{-\frac{i\alpha\tau}{\gamma}} F(\tau) \sqrt{\tau} J_{1}\left(\frac{2}{\gamma} \sqrt{\tau t}\right) d\tau dt.$$

The proof of the change in the order of integration is similar to the proof of

$$\int_{0}^{\infty} e^{-st} \sqrt{t} \int_{0}^{\infty} J_1(2\sqrt{\tau t}) G(\tau) d\tau dt = \frac{1}{s^2} \int_{0}^{\infty} e^{-\frac{t}{s}} \sqrt{t} G(t) dt.$$

For this see [3, p. 133] or [8].

PROOF OF THEOREM 2: Theorem B was proved by connecting the coefficients  $a_n$  and  $b_n(\zeta)$  by a non-absolute-regular matrix method. We cannot generalize this proof since in general  $f_1(\varphi(s))$  is no Laplace-integral.

We prove theorem 2 by giving an example of functions satisfying the conditions

of theorem 1.

Let  $\alpha$ ,  $\beta$ ,  $\gamma$ ,  $\delta$  satisfy (1) and (2) and define  $F_1(t)$  by

$$F_1(t) = \begin{cases} e^{\frac{i\alpha t}{\gamma}} \frac{1}{t\sqrt{t-1}} & t > 1\\ 0 & t \le 1 \end{cases}.$$

It is known that [4; vol. 2, p. 18, ex. 5]

$$\int_{0}^{\infty} e^{-\frac{i\alpha\tau}{\gamma}} F_{1}(\tau) \sqrt{\tau} J_{1}\left(\frac{2}{\gamma} \sqrt{\tau t}\right) d\tau = \gamma \cdot t^{-\frac{1}{2}} \cdot \sin\frac{2}{\gamma} \sqrt{t}$$

and [4; vol. 1, p. 136, ex. 26] for Re  $s \ge 0$ 

$$f_1(s) = \pi \operatorname{Erf} c \left( \sqrt{s - \frac{i\alpha}{\gamma}} \right) = \int_0^\infty e^{-st} F_1(t) dt = \pi - 2\sqrt{\pi} \int_0^{\sqrt{s - \frac{i\alpha}{\gamma}}} e^{-t^2} dt.$$

From Theorem 1 and [4; vol. 1, p. 154, ex. 34] we deduce

$$F_2(t) = -e^{-\frac{i\delta t}{\gamma}} \cdot \gamma \cdot t^{-t} \sin \frac{2}{\gamma} \sqrt{t}$$

and for Re  $s \ge 0$ ,  $s \ne -i\delta/\gamma$ 

$$\pi - f_2(s) = \pi \operatorname{Erf}\left(\frac{1}{\gamma} \frac{1}{\sqrt{s + \frac{i\delta}{\gamma}}}\right) = \int_0^\infty e^{-st} F_2(t) dt = 2\sqrt{\pi} \int_0^{\frac{1}{\gamma}} \int_0^{\frac{1}{\gamma} + \frac{i\delta}{\gamma}} e^{-t^2} dt.$$

Hence we have

$$\int\limits_0^\infty |F_1(t)|\,dt=\int\limits_1^\infty \frac{1}{t\sqrt{t-1}}dt<\infty$$

and

$$\int_{0}^{\infty} |F_{2}(t)| dt = \int_{0}^{\infty} \frac{\left|\sin\frac{2}{\gamma}\sqrt{t}\right|}{t} dt = \infty.$$

PROOF OF THEOREM 3: Let r > 0. We have  $f_{2,k}\left(r - \frac{i\beta}{\alpha}\right) = f_{1,k}\left(\frac{\alpha^2 r}{1 - i\alpha r}\right)$  and for Re s>0 the functions  $f_{1,k}(s)$ ,  $f_{2,k}(s)$  are holomorphic (see [3, p. 330], [7, p. 284]).  $\frac{\alpha^2 r}{1-i\alpha vr}$  approaches 0 inside an angle  $<\pi$  with vertex at 0 so that the generalized

Abel-limitation theorem can be applied [3, p. 331], [7, p. 284] in case a). By proving case b in a similar way we use theorem I of [2, p. 457].

I am grateful to Prof. Dr. W. Miesner for drawing my attention to this problem.

## References

- L. Alpár, Sur certaines transformées des series de puissance absolument convergentes sur la frontiére de leur cercle de convergence. Magyar Tud. Akad. Mat. Kutató Int. Közl. 7 (1962), 287—316,
- [2] P. DIENES, The Taylor series Oxford 1931, reprinted New York, 1957. [3] G. DOETSCH, Handbuch der Laplace-Transformation, Bd. 1, Basel, 1950.
- [4] A. Erdélyi, Tables of Integral Transforms, Bateman manuscript project vol. 1, 2; New York, 1954.
- [5] K.-H. INDLEKOFER, Summierbarkeitsverhalten äquivalenter Potenzreihen I. Arch. Math. (Basel) 22 (1971), 385—393.
- [6] J. MAYER-KALKSCHMIDT, Zur Theorie der Laplace—Stieltjes-Integrale. Mitt. Math. Sem. Giessen 47 (1954).
- [7] G. McCrossen, A generalized Laplace—Stieltjes transformation, Proc. Amer. Math. Soc. 8 (1957), 278—285.
- [8] F. Tricomi, Sulla trasformazione e il teorema di reciprocità di Hankel. Atti Acad. naz. Lincei, Rend. Cl. Sci. fis. mat. nat. (6) 22 (1935), 564—571.
- [9] P. Turán, A remark concerning the behaviour of a power series on the periphery of its convergence circle. Acad. Serbe. Sci. Publ. Inst. Math. 12 (1958), 19—26.

(Received December 6, 1971.)